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2083-I1 EAFM.-1I

B.Com. (Part-1ll) Examination, 2019
(Faculty of commerce)
(Three Year Scheme of 10+2+3)

ECONOMIC ADMINISTRATION AND
FINANCIAL MANAGEMENT

Paper-I|
(Business Budgeting)

Max.Marks:100

Note: (l). Attempt any five questions in all, selecting one question from each Unit.

YAF §HE H W U T H 9844 Hd §U, T G T g A ¢

(ii) No supplementary answer-book will be given to any candidate. Hence the Candidate
Should write the answers precisely in the main answer-book only.
faely off qlemft & & sav-gfiae a@ & Jdel s Sl @ aRd & F g
Far-qitaar # § gAca T & 3

(i) All the parts of one question should be answered at one place in the answer-book. One
Complete question should not be answered at different places in the answer-book
e o v e & 3eeia O T R WA F 390 3A-fiaE H AS-HeT TEr 97
T A F AT, T @ T W g H

Unit-'I'
gl
What do you understand by business budget? Explain the process of budgeting.
EAF a3 W HY 3T FAFS &7 9ded S Wihar & FAsEd|
Or/ 3ar
From the following description of 60% activation level, one for 80% and 100% activation
Make a flexible budget.

1.Production at 60% capacity. 2900 unit

2. Materials 2150 per unit
3. Labour 250 per unit
4, Direct Expenses %15 per unit
5. Factory overhead (40% Fixed) %60,000

6. Office overhead (50% Fixed) %90,000
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60% framifraar & ¥av & farsr faawor & 80% &ur 100 wfaerd frarehear g o=
snfie @9 @\ Ed)

1. 60% &TRaT 9T 3cae=| ? 900 IfAe
2. wHEA 2 150 9fa gfae
3. 4A. ? 50 wfy gfee
4, WeUel =Oq % 15%fa gfae
5. el WaEwRs (40% Rrers) ¥ 60,000
6. HIThH Ha@s (50% Thaes) X 90,000
Unit-"Il’
FHIE-I
Describe various methods of business forecasting.
T EAe  Rfter Rt @ Tt S
Or/ 3y=T

Describe the importance and limitations of professional forecasting.

EHTTAE JaAATT @ AgaT vd WATH H o Pt

Unit-"lI
THIE-1
The following is the January 2018 sales budget of a construction company-
Product Quantity Selling Price per Kg (%)
X 250kg 3.00
Y 1250kg 2.00
Z 2000kg 2.50
Actual sales for this month were as fallows-
Product X. 2000 kg for Rs. 5500
Product Y. 1750 kg for Rs.3937.50
Product Z. 2200 kg for Rs.4950

v forfor Sl 7 sead 2018 1 Y awe feaieT -

Product Quantity Selling Price per Kg (%)
X 250kg 3.00
Y 1250kg 2.00
z 2000kg 2.50
T AaA # Ireafas A 5w g -
3G X. 2000 kg for Rs.5500
3AE Y. 1750 kg for Rs.3937.50
I9e Z. 2200 kg for Rs.450
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What does budgetary control mean? Explain the importance and limitations of budgetary control.

Or/ 3ryar

auiedt Fro=or @ & smw &7 awed Fa=ur & ag=r g dimrsit & gagngal

What do you understand by product mix? Things to consider when choosing the best product mix

Should be taken care of?

FE-TRAUT ¥ WY 0T GRHS &7 FaraA Ire-TRAor 7 9ud F 9 98T e agt

FT R TEAT AIET?

Unit- IV’

IV

Or/ 344y

Assuming that the instalted capacity of a factory is 50,000 units, the maximum output

What should be the bottom level?
Particulars Qutput upto 25,000 unit Output up to 40,000 unit
Fixed Cost 25,000 35,000
Variable cost P.U Selling 2 2
Revenue P.U 4 3.50

7g A ge & Rl FRae S wla st 50,000 Ffae @, wftwaw e

o= w5 = gar wfge?
Particulars Output upto 25,000 unit Output up to 40,000 unit
Fixed Cost 25,000 35,000
Variable cost P.U Selliing 2 2
Revenue P.U 4 3.50
Unit-"V*
FHIE-V

What is Project Planning? Describe the essential elements of a good project.

gfaser fAase F=r 87 v 3=dr aftdiser iy araas aaat & ol S

Or/ 3yEr

The capital structure of a company is as follows-

(rupaye.)
2000 6% debenture of Rs. 100 cach 2.00,000
1000 7% debenture of Rs 100 cach 1,00,000
2000 8% cumulative preference 2,00,000
shares of Rs. 100 each
4000 Equity share of Rs 100 cach 4,00,000
Retained Earrings Total 10,00,000
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For the past several years, the earning per share of Kamani is Rs. 15. The company's Ash in the market
is sold at book value, the company’s income tax rate is 50%. The tax liability on the personal income of
the non-holders is 10%. Find the average capital cost.

et avoeft i goft T FeTgER 8-

(rupaye.)
2000 6% debenture of Rs. 100 cach 2,00,000
1000 7% debenture of Rs 100 cach 1,00,000
2000 8% cumulative preference 2,00,000
shares of Rs. 100 each
4000 Equity share of Rs 100 cach 4,00,000
Retained Earrings Total 10,00,000

foed &g asl @, @t & 1fd R maF) 15, TR F A 1 0 g AT TR 91 S §, A Y s
2 50% g1 R-uwan! ) afohra 38 IR aR 3 10% &1 Ja goh enma sma g

—X—
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